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and under .1 read 16.7, the

distance out from the side stake at right.

2
3

OSNNUVWODON—TNH OIS~ NHOL=-DHO
eSSl NN NNNNNMMM

8
9

CSCNNWVOD—NH OO0 O M HW = OO
rHrE A A N A AN NN NMMMM MMM

4
5

CODN—TANHIR-OOr 1N HOL-DRONMNMIOOOD— AN
= LIS rHrE A NN AN QICIM D O O DO CO H < < <

Side Stake
out from Side or Shoulder Stake

KEUFFEL & ESSER CO., N. Y.

Side Stake

Dista:

Roadway of any Width. Side Slopes 115 to 1.
In the figure below: opposite 7 under ‘‘Cut or Fill’’ and under .3 read 11.0, the distance out

DISTANCES FROM SIDE STAKES FOR CROSS-SECTIONING

Slope Stake

from the side stake at left. Also, opposite 11 under ‘‘Cut or Fill’*
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TRIGONOMETRIC FORMULAE

Right Triangle Oblique Triangles
Solution of Right Triangles

a b ¢
For Angle A. sin = %—, cos= "=, tan= 7, cot = 2! 5€¢ = 7, cosec =
Given Required 3
a, b A, B,c| tan A= =¢°‘B"’=V“§+52=“W’1+a—z

[~ e
a, ¢ A, B b | sind= =cosB,b=\/io+aiio—a;=cJ1—:—’

A,a | B, b e B=90°—A4,b =acotd,c= —
sin A,

= P = =
A5 |Ba ¢ | B=90"—A4,8=>btan 4,ec se

A, e B, a b B=90°—-A,a=osinA,b=ccosA,
Solution of Oblique Triangles

Required asin B = s
b, ¢ O b=m‘,0~—180—-(4+b'),c_m—

i | . SO e __asin 0
B, 0 | sinB= 15,0 = 180°—(4 + B), ¢ = 2100

4, B,¢ | A4+B=180°— 0, tan }(4—B)= Pt t::— bA+B

- @ gin O
" sind
s=a+gi°,sin%A= 8—-D)s—¢

be 0

sin%B:\/mTy‘:Tc),C:ISO"—(A+B)

Area 8=G+Tb+c, area = ~/8(s—a) (8—0) (s—o
Area area = f’_"_‘;ﬁ

a?sin B sin C
2sin 4

REDUCTION TO HORIZONTAL

Horizontal distance=Slope distance multiplied by the

cosine of the vertical angle. Thus: slope distance =819, 4 ft.

Vert. angle==5°10/. From Table, Page 1X. cos 5° 10'=
® .9969. Horizontal distance=319.4{.9959—=318.09 ft.

& Horizontal distance also= Slope distance minus slope
distance times (1—cosine of vertical angle) With the
I0g reait Is Dbtained. Coruns oy i SXpampls. the follow.

i i ing result is obtained. Cosine =.9959. 1—.9959=.
oy distance g 0= 3t St iy &t ¢
When the rise is known, the horizontal distance is approximately:—the slope dist-

ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

slope distance=302.6 #t. Horizontal distance=302.6— ;;(—3’012%=ms—o.sz=mzs it.

Area area =

MADE IN U, 8. A.




